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1. Blue sheets
Demographic framework
2008 is the last population census. In total we have 6.5 million males that were counted in the last population census, 6.9 million females and the total was 13.4 million. Then we want to know the population in the future because we want to cost the scenarios over a period of time. We also have the population by single age, if available.  Otherwise we need to recreate the data. The NSO did the population census in 2008 and also the population projection as well. So we use the official projection of the population from 2009 to 2020. In 2020, the population is expected to be 16.5 million because the total fertility rate is quite high in Cambodia (at 3.1 which is above the replacement rate of 2.1).
Activity Rates
The percentage of the male and female who are participating in the labour market (either working or looking for work); child labour- the labour law enables children from age 12 to 14 to work under certain conditions. We assume that the activity rates remain the same over the years. We need these assumptions because we will use these rates to calculate the economic population in the future.
Economically active population
3.5 million male in 2008 are available for work (either working or looking for a job). The data in 2008 comes from the census. For the future years (2009-2020) we us the population multiplied by activity rates to obtain the economically active population for the years 2009 to 2020.
Economic module
This contains all the economic parameters: exchange rate, average wage, minimum wage (in the garment sector – 200,000 KHR/month), the food poverty line and the poverty line (source: ministry of interior), the GDP structure (how the GDP is broken up across the primary sector, secondary sector, and tertiary sector), then we can see how the GDP changes over the years. 
GDP measures the national output, what is produced in the country; GDP is also the national income. The GDP per capita is the GDP divided by the population. 
GDP at constant prices and GDP at current prices = if we keep the prices constant, what does the GDP measures? It measures the volume, i.e. how much more is produced. The GDP at current prices measures the increase in volume and in price. The GDP deflator gives us the relationship between the two. The GDP deflator is increasing because generally prices increase in the economy.
The labour productivity is the GDP divided by employment (number of employed). It is the output per worker. We know the number of workers. We know the value added per worker. If our number of workers increases by 5%, our GDP increases by 5%. Generally the productivity is increasing because there is a progressive shift from primary sector to secondary and tertiary sectors; another reason is that we are using more machines etc. and therefore we become more productive. 
The Consumer Price Index - This is the change of prices per year. In 2009 the annual percentage change of the Consumer Price Index jumped by 25%. Also the economy is developing and therefore more and more people have money to spend this is why the consumer price index is increasing in a developing country such as Cambodia.
Unemployment is the difference between labour force (economically active population) and employment. The unemployment rate is quite low at 3%. This is really common in developing countries where everybody has to work somehow, make a living, because there is no unemployment insurance. 
We also have the employment per sector (1) primary sector, (2) secondary sector (around 600,000 people) and (3) service sector. 
If we look at the labour productivity, we see that the labour productivity is the secondary sector is much higher than in the agriculture sector; this makes sense because in the industry they use a lot of machines.
Government operations
In the revenues we have domestic taxes, custom duties, non-tax revenues, grants.
In the expenditures we distinguish between the current expenditures like the salaries, interest payments, etc. and the capital expenditure to finance infrastructure developments. In Cambodia most of the capital expenditure is foreign financed. 
We obtain the balance (revenues-expenditures) we obtain the balance which is a deficit. This we can compare to GDP – the deficit is between 3 and 6% of GDP depending on the GDP.
2. Why do we need all these blue sheets?
For costing the policy options we need many parameters: population, employment, minimum wage, etc. We also want to have a consistent model where all the variables are consistent because they are somehow interrelated. For instance employment cannot be higher than the labour force. So we can check that the model is consistent. It is also a good way to be transparent and we can show our assumptions. We can also change the variables when new data is available. We can also adjust the model one or two years later. We can also test the model. I have assumed 5% inflation; what happens if the inflation is more? What happens if the GDP growth is not 7-8% but only 3 or 4%...? These are the sensitivity tests that allow testing the model. 
We need a lot of data to fill these sheets. And the problem is that in many cases some data is not available.
3. Costing of scenarios
Scenario 1 = cash transfer for the poor. 
Target group = ID poor 1. In 2012, we have 1,941 people living in extreme poverty (based on the poverty rate * population).
The level of benefits is based on the food poverty line. The FPL is 93,503 KHR per month (about 23 USD). The cash transfer is 60% of the food poverty line. We then multiply by twelve to get 672,000 KHR which is the benefit per capita per year in 2012. We then multiply the number of ID poor people by the per capita cost of the benefit. Finally we add the admin costs.
We obtain the total cost and we divide by the GDP, we obtain 2.5 % of GDP; or 23.3% of the government operations budget. 
If the government wants to introduce this programme, it means that the government has to increase it recurrent budget by 23.3% and find the ways to finance this budget increase.
We have used the GDP, the CPI (to increase the benefit amount year by year), the population data and projection.
4. Presentation of the results of the costing in Cambodia
The NSPS defines 5 policy objectives; for each of the five we defined some policy options; for each of the policy options we calculated the cost of two options: (i) one option where the benefit is targeted to the poor (ID poor 1, ID poor 1 and 2) and (ii) one option where the benefit is universal. The ID poor is a targeting mechanism in Cambodia which helps identifying the households that qualify for the some social protection benefits, in particular the Health Equity Funds.
For the strategic objective 1 of the NSPS:
· We proposed a cash transfer for the poor, ID poor 1 (extremely poor, households living below the food poverty line), the benefit is 60% of the food poverty line, indexed on CPI. The ID poor 1 households represent 2.1 million people.
· We proposed a cash transfer for the poor, ID poor 1 and 2 (extremely poor and poor), the benefit is 80% of the food poverty line, indexed on CPI. The ID poor 1 and 2 households represent 3.7 million people.
For the strategic objective 2 of the NSPS, we proposed 5 policy options, some of them being targeted to the poor, some of them universal. 
· Policy option No3 is a cash transfer for pregnant mother
· Policy option No4 is a cash transfer for children under 3 years old
· Policy option No5 is a cash transfer for primary school children
For the strategic objective 3 of the NSPS we created two policy options related to the establishment of a PWP, one targeting only ID poor 1 households, and the second targeting ID poor 1 and 2. This would address the seasonal unemployment in rural areas. We are now discussing the introduction of an additional scenario on vocational training.
For the strategic objective 4 of the NSPS we propose the extension of the HEFs that cover today 70 per cent of the poor, to all the poor. This plan could be achieved by 2014.
For the strategic objective 5 of the NSPS which relates to all vulnerable groups such as the elderly, disabled and people with HIV. For the costing we selected only the elderly and the disabled. Policy options No9, 10 and 11 relate to the old age pensions of the elderly. Policy option No12 relates to the people with disabilities (social pension for people with disabilities).
The NSPS caters only to the poor and vulnerable. This does not include the formal sector workers and their families.
The projected cost of the cash transfer for the poor as a percentage of the GDP; the cost in percentage of GDP would decrease from 4.7% of GDP to 1.5% of the GDP by 2020 for the high scenario, and 2.5% of GDP to 0.7% of GDP by 2020 for the low scenario. We have assumed that the coverage would be 100% from the first year; we have also assumed administrative costs at 10%. The cost is decreasing for at least two reasons: (i) the poverty rate is decreasing and (ii) the GDP is increasing.
The other policy options cost less in percentage of GDP (maternity, expansion of HEFs, PWPs, minimum pension for people with disabilities and so on). The universal benefits would cost a bit more of course than the targeted programmes.
The costing exercise should facilitate the policy dialogue based on existing policy options. We can see that the relative cost in percentage of GDP will progressively decrease. We have to keep in mind that the projections are based on the assumption that we would have a high increase of GDP and a decrease of poverty rates.
Comments:
Add unemployment for the youth -> with the new policy options concerning vocational training this will provide support to the youth when they are unemployed.
Add access to education -> we have included it with the cash transfer to school age children.
Ideally we should have a combined benefit package including access to health care, income security for children, for the working age and the elderly because (i) the different components of the SPF complement each other, (ii) it is difficult to do a trade-off between the implementation of the different objectives of the national social protection strategy.
If we want to build some combined benefit packages we need to look at the possible overlaps between the policy options (for instance option 1 which targets all the poor and option 9 which targets the poor elderly). 
5. Fiscal space
Fiscal space is the availability of budgetary room that allows a government to provide resource for a desired purpose without any prejudice to the sustainability of its financial position.
When we look at government financing we have to look at the revenues and expenditures.
The revenues include: 
· The domestic revenues which include:
· The tax revenues, either direct (collected directly from the person and company) and indirect taxes (on behalf of the end user such as the VAT), 
· The non-tax revenues (such as the VISA fees), 
· The Seignorage revenues (this is the revenue from printing money; this is a lot for some countries such as the USA because many countries such as Cambodia are using US dollars; the US government benefits from the dollarization of the Cambodian economy), 
· The Asset sales (such as concessions or selling state-owned enterprises to generate some revenues for the government), 
· Natural resources (in the middle-east countries people don’t pay much taxes because they have the oil money; this may be an option in Cambodia…). 
· The financing revenues which include:
· Domestic borrowing (the government can issue treasury bonds for instance; this is not the case in Cambodia… the main reason may be that the Cambodian government can easily borrow money abroad and access to preferential loans)
· Foreign loans and grants (ex: govt of China financing infrastructure; international financial institutions such as world bank and ADB funding infrastructure projects)
On the expenditures side we distinguish between the investments and operations i.e. capital expenditure and recurrent expenditures.

Generally the revenues = expenditures; if the budget is not balanced we need to borrow.

How do we create fiscal space?
· Generate addition revenues
· Increase tax rates
· Introduce new taxes (such as the land tax)
· Improve revenue collection (make sure that everybody pays his/her taxes)
· Privatize state owned enterprises, selling off government’s assets
· Reduce existing spending
· Reallocate spending
· Loans (but here we have to fink about sustainability). Borrowing is often justified for capital expenditure such as building new roads; it is less accepted for recurrent expenditures.
The tax revenues divided by GDP is only 12.5% in Cambodia, much lower than Japan and Korea (which are above 25 per cent). This provides some space to increase the fiscal space. The trend (IMF projections) shows that the Tax revenue/GDP ratio will increase progressively to reach 15% by 2020 in Cambodia. In addition it is expected that the GDP is going to increase a lot; therefore if we combine the two effects (increase in Tax revenue/GDP ratio and increase in GDP) this will give much more fiscal space. The government revenues are expected to more than double by 2020. So there is some fiscal space; but at the same time the Government has many priorities including the increase of the civil servants’ salaries.
We don’t know what will be the priorities because there is no medium term expenditure framework but there is some sectorial plans such as for health and education. After the costing we could work with MOF on what could be the resources to be allocated to social protection programmes in the future.







